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White to play and win.

You will need to look

about 10 moves ahead 

but find the first move (!!)

and the rest run like 

clockwork.


Veselin Topalov had struggled since losing the world championship match to Vladimir Kramnik a year ago. However he was back to form in the recent Chess Champions League, a double round-robin in Spain, scoring 7/10, which included a typical storming finish with the defeat of his three closest rivals in the final three rounds. Former world champion Anatoly Karpov, playing only his second tournament since 2004, appeared rusty and finished last with 3, losing four games, more
than his yearly quota during his prime a quarter-century ago.  Former FIDE champion Rustan Kasimdzhanov brilliantly defeated Karpov in the following game:

Rustam Kasimdzhanov -GM Anatoly Karpov 

Vitoria-Gasteiz, Spain  2007

Nimzo-Indian Defence, Classical Variation

1.d4 Nf6 2.c4 e6 

3.Nc3 Bb4 4.Qc2  d5 

5.a3 Bxc3+ 6.Qxc3 Ne4 

7.Qc2 c5 8.dxc5 Nc6 

9.cxd exd 10.e3(a) Qa5+

11.b4!?(b) Nxb4 12.axb4 Qxa1 

13.Bb5+ Kf8(c) 14.Ne2 a5 

15.f3 Nf6 16.0-0 Qe5(d) 
 

17.e4! dxe4 18.Bf4 Qf5(e)
 

19.g4 Qg6(f) 20.Qd2 Be6 
 

21.Bb8! Nd5?(g)  22.Nf4! Qh6(h) 
23.Nxe6+ Qxe6(i) 24.Bd6+ Kg8 
25.Bc4 exf 26.Bxd5 Qxg4+
27.Kh8 axb 28.Bxf3 Qc4

29.Qg2 h5 30.Bd5 Qg4

31.Bxf7+ Kh7 32.Qc2+ g6

33.Bxg6+! resigns(j)

a)  10.Nf3 Bf5 11.b4 d4! 12.g4 Bg6 13.Qc4 d3! was Kramnik-Anand, Dortmund 1999 (14.exd Qf6!)
b)  This exchange sacrifice is new.  

c)   If 13…Bd7 14.Bxd7+ Kxd715.Ne2 also gives White adequate compensation for the exchange.
d)   Best as 16…axb4 17.Bb2 Qa5 18.Ra1 Qxa1+ 19.Bxa1 is in White’s favour.
e)   Not 18…Qe6? 19.Rd1 Bd7 20.Bxd7 Nxd7 21.Bd6+ Kg8 22.Nf4 Qh6 23.Nd5 f5 24.Nc7 threatening 25.Qc4+ & 25.Nxa8.
 

f)  19…Qe6? loses the Queen to 20.Bd6+ Kg8 21.Nf4.


g)  Not 21…Rxb8?? 22.Qd6+. Black has to play 21…Bd5! 22.Nf4 Qh6 23.Bd6+ Kg8, White may have nothing better than 24.Nxd5 Qxd2 25.Ne7+ Kf8 26.Ng6+ Kg8 27.Ne7+ drawing. 
h)  22...Nxf4?? 23.Qd8#. 
i)  If 22... fxe6 24.fxe4+ Nf6 25.g5 Qg6 26.Bg3 winning.
j)  33…Qxg6 34.Rf7+ Kh6 35.Bf4+.
The CHRISTMAS OPEN (final 2007 WA Grand Prix event) will be held at Legacy House, Mill Point Rd./Frasers Lane, S Perth, Sat 8 (11am-6.15pm) & Sunday 9 December (10.30am-6pm). Discount of $10 for entering before Dec 6. Enquiries Andrew Hardegen 0407421084.  GP Leaders: Premier – Wilkins (32), T Donaldson (31), Kuklinski (29), Viaseca (26), Galvin (23), Hardegen (22): Major – Galvin (42), Holland (29), Tomic (27), Sam (27) Dunlop (26): Minor – Sam (52), G Donaldson (36), Cuellar (24), Booth (22) Gilmetdinov (21), McQuilkin (20), Boni (20).
SOLUTION: 1.Re8+!! Kxe8 2.g7 Rg8 (2…Rf8 will transpose) 3.f6 Rf8 4.gxf8=Q+ Kxf8 5.Kc8 Ke8 6.Kc7 Kf8 7.Kd7 Kg8 8.Ke8 and the win of the f pawn enables White to queen.  This position was one of a number of problems from last year’s inaugural Australian Junior Problem Solving Championship, won by Perth’s Ganesh Viswanath (printed in the most recent edition of Australian Chess).
